

#### BID Proposals Request for Proposal (RFP)

13-0074 Traffic and Incident Management System Maintenance Enhancement and Upgrade Monday, December 2, 2013 Room 850 Time: 10:30 a.m.

#### Vendor Name

**Delcan Corporation** 



#### BID Results IFB

#### 13~0099 Mowing Equipment Tuesday, December 3, 2013 Room 215S Time:10:30 a.m.

	1. Vendor Name: Martin Implement Sales Inc.				
Line #	Description	Quantity	Unit Cost	Extension	
1	120 Horsepower Tractor with Triple Gang mower Attachment HH, Specification FS-517-1	2	\$112,697.00	\$225,394.00	
2	40 Horsepower Tractor with Rear Flail Mower Attachment II, FS-515		\$47,081.00	\$329,567.00	
Alternate B	id For Line #2				
2	40 Horsepower Tractor with Rear Flail Mower Attachment II, FS-515	7	\$38,139.00	\$266,973.00	
3	35 Horsepower Zero Turn Mower Attachment JJ, FS-514	5	\$9,888.00	\$49,440.00	
4	88" Flail Mower Deck Attachment KK, FS-501-1	6	\$6215.00	\$37,290.00	

	Vendor Name: Martin Implement Sales Inc.				
Line # Manufacturer's Name Manufacturer's Model / Part #					
1	New Holland & Alamo	TS6. 125 / Interstater			
2	Kubota & Alamo	L4060HSTC /74"			
3	GrassHopper	335			
4	Alamo	88"			

	2. Vendor Name: Russo Power Equipment				
Line #	Description	Quantity	Unit Cost	Extension	
1	120 Horsepower Tractor with Triple Gang mower Attachment HH, Specification FS-517-1	2	No Bid	No Bid	
2	40 Horsepower Tractor with Rear Flail Mower Attachment II, FS-515	7	\$79,357.78	\$555,504.46	
3	35 Horsepower Zero Turn Mower Attachment JJ, FS-514	5	\$9,915.000	\$48,575.00	
4	88" Flail Mower Deck Attachment KK, FS-501-1	6	\$6,454.00	\$38,724.00	

	Vendor Name: Russo Power Equipment				
Line # Manufacturer's Name Manufacturer's Model / Part #					
1	No Bid	No Bid			
2	Kubota /Landpride	M126DXDTC/FM3188			
3	Gravely	992245			
4	Landpride	FM4188			

	3. Vendor Name: WHE Ltd				
Line #	Description	Quantity	Unit Cost	Extension	
1	120 Horsepower Tractor with Triple Gang mower Attachment HH, Specification FS-517-1	2	\$108,374.00	\$216,748.00	
2	40 Horsepower Tractor with Rear Flail Mower Attachment II, FS-515	7	No Bid	No Bid	
3	35 Horsepower Zero Turn Mower Attachment JJ, FS-514	5	\$12,140.00	\$60,700.00	
4	88" Flail Mower Deck Attachment KK, FS-501-1	6	\$7,649.00	\$45,894.00	

	Vendor Name: WHE Ltd				
Line #	ne # Manufacturer's Name Manufacturer's Model / Part #				
1	Case IH/Alamo	Farmall 120A/Interstater			
2	No Bid	No Bid			
3	Ferris	IS3100ZBV36			
4	Alamo	SHD88			

	4. Vendor Name: Grower Equipment & Supply Co.				
Line #	Description	Quantity	Unit Cost	Extension	
1	120 Horsepower Tractor with Triple Gang mower Attachment HH, Specification FS-517-1	2	No Bid	No Bid	
2	40 Horsepower Tractor with Rear Flail Mower Attachment II, FS-515	7	No Bid	No Bid	
3	35 Horsepower Zero Turn Mower Attachment JJ, FS-514	5	\$10,245.00	\$51,225.00	
4	88" Flail Mower Deck Attachment KK, FS-501-1	6	No Bid	No Bid	

	Vendor Name: Grower Equipment & Supply Co.				
Line #	Manufacturer's Name Manufacturer's Model / Part #				
1	No Bid				
2	No Bid				
3	Gravely	Pro Turn 472 /992245			
4					

5. Vendor Name: German Bliss Equipment Inc.				
Line #	Description	Quantity	Unit Cost	Extension
1	120 Horsepower Tractor with Triple Gang mower Attachment HH, Specification FS-517-1	2	\$120,538.00	\$241,076.00
2	40 Horsepower Tractor with Rear Flail Mower Attachment II, FS-515	7	\$37,321.00	\$261,247.00
3	35 Horsepower Zero Turn Mower Attachment JJ, FS-514	5	\$12,337.00	\$61,685.00
4	88" Flail Mower Deck Attachment KK, FS-501-1	6	\$6,569.00	\$39,414.00

	Vendor Name: German Bliss Equipment Inc.				
Line #	Line # Manufacturer's Name Manufacturer's Model / Part #				
1	Kubota/Terrain King	M10850SC/Terrain King Master Triwing 233			
2	Kubota/ Land Pride	L4060HSTC/FM2172			
3	Exmack	LZX980KC726			
4	Terrain King	Flail King 88			



### BID Results

12-0192R Copier and Production Printer Equipment Wednesday, December 4th, 2013 Room 215 Time: 10:30 a.m.

Vendor Name	Purchase Option Total Bid	Leasing Option Total Total Bid	Leasing Option- Overage Click Charges Total Bid
Xerox Corporation	\$919,920.60	\$604,957.80	\$21,060.00



#### Bid Results IFB

#### 13-0188 Winter Roadway Abrasives Wednesday, December 18, 2013 Room 340N Time:10:30 a.m.

	1. Vendor Name: Meyer Material Company			
Line#	TOLLWAY MAINTENANCE SITE	SHIP TO	EXTENSION (ESTIMATED QUANTITY MULTIPLIED BY UNIT PRICE)	
1.	M~1	MAINTENANCE BUILDING #1 I~294 AND CICERO AVENUE MILEPOST 12.5 NORTHBOUND ALSIP, IL 60858	\$36,260.00	
2.	M~2	MAINTENANCE BUILDING #2 I-294 NORTH OF CERMAK ROAD MILEPOST 30 NORTHBOUND HILLSIDE, IL 60162	\$28,700.00	
3.	M-3	MAINTENANCE BUILDING #3 I-294 NORTH OF TOUHY AVENUE MILEPOST 41.7 NORTHBOUND PARK RIDGE, IL 60068	\$25,900.00	
4.	M~4	MAINTENANCE BUILDING #4 IL ROUTE 132 (GRAND AVENUE) & TRI-STATE TOLLWAY MILE POST 8.4 WB GURNEE, IL 60031	\$23,800.00	
5.	EDENS SPUR	SALT DOME AT EDENS SPUR RAMP LAKE COOK ROAD & TRI-STATE TOLLWAY MILE POST 52.4 NORTHBROOK, IL 60065	\$8650.00	
6	M~5	MAINTENANCE BUILDING #5 I-90 AND ROUTE 53 MILEPOST 68.2 EASTBOUND SCHAUMBURG, IL 60193	\$15,400.00	
7.	M-6	MAINTENANCE BUILDING #6 I-90 AND ROUTE 20 MILEPOST 42.0 WESTBOUND HAMPSHIRE, IL 60140	\$21,120.00	

8.	M~7	Maintenance Building #7 I-90 and Route 20 Milepost 15.5 Westbound Rockford, Il 61101	\$28,900.00
9.	M-8	Maintenance Building #8 I-88 and Naperville Road Milepost 127.3 Westbound Naperville, Il 60563-8817	\$25,900.00
10.	Route 47	Salt Dome at Route 47 I-88 and Route 47 Milepost 109.3 Sugar Grove, Il 60554	\$4400.00
11.	M~11	Maintenance Building #11 I-88 and Annie Glidden Road Milepost 91.4 Westbound Dekalb, Il 61101	\$35,550.00
12.	Rte 251	Salt Dome at Route 251 Route 251 and I-88 Milepost 76.1 Rochelle, Il 61068	\$5180.00
13.	M-12	Maintenance Building #12 Route 26 and I-88 Milepost 54 Dixon, Il 61021	\$46,620.00
14.	M~14	Maintenance Building #14 I-355 at I-88 Milepost 21.9 Northbound Downers Grove, Il 60515	\$31,200.00



#### Bid Results IFB

#### 13~0188 Winter Roadway Abrasives Wednesday, December 18, 2013 Room 340N Time:10:30 a.m.

	2. Vendor Name: Thelen Materials LLC			
Line#	TOLLWAY MAINTENANCE SITE	SHIP ТО	EXTENSION (ESTIMATED QUANTITY MULTIPLIED BY UNIT PRICE)	
1.	M~1	MAINTENANCE BUILDING #1 I-294 AND CICERO AVENUE MILEPOST 12.5 NORTHBOUND ALSIP, IL 60858	\$25,914.00	
2.	M~2	Maintenance Building #2 I-294 North Of Cermak Road Milepost 30 Northbound Hillside, Il 60162	\$24,892.00	
3.	M~3	MAINTENANCE BUILDING #3 I-294 NORTH OF TOUHY AVENUE MILEPOST 41.7 NORTHBOUND PARK RIDGE, IL 60068	\$22,750.000	
4.	M~4	MAINTENANCE BUILDING #4 IL ROUTE 132 (GRAND AVENUE) & TRI-STATE TOLLWAY MILE POST 8.4 WB GURNEE, IL 60031	\$20,145.00	
5.	EDENS SPUR	SALT DOME AT EDENS SPUR RAMP LAKE COOK ROAD & TRI-STATE TOLLWAY MILE POST 52.4 NORTHBROOK, IL 60065	\$7250.00	
6	M~5	Maintenance Building #5 I-90 and Route 53 Milepost 68.2 Eastbound Schaumburg, Il 60193	\$16,250.00	
7.	M~6	MAINTENANCE BUILDING #6 I-90 AND ROUTE 20 MILEPOST 42.0 WESTBOUND HAMPSHIRE, IL 60140	\$32,400.00	

8.	M~7	Maintenance Building #7 I-90 and Route 20 Milepost 15.5 Westbound Rockford, Il 61101	\$37,825.00
9.	M~8	Maintenance Building #8 I-88 and Naperville Road Milepost 127.3 Westbound Naperville, Il 60563-8817	\$24,220.00
10.	Route 47	Salt Dome at Route 47 I-88 and Route 47 Milepost 109.3 Sugar Grove, Il 60554	\$3550.00
11.	M~11	Maintenance Building #11 I-88 and Annie Glidden Road Milepost 91.4 Westbound Dekalb, Il 61101	\$41,850.00
12.	Rte 251	Salt Dome at Route 251 Route 251 and I-88 Milepost 76.1 Rochelle, Il 61068	\$4300.00
13.	M~12	Maintenance Building #12 Route 26 and I-88 Milepost 54 Dixon, Il 61021	\$41,850.00
14.	M~14	Maintenance Building #14 I-355 at I-88 Milepost 21.9 Northbound Downers Grove, Il 60515	\$26,000.00



#### Bid Results IFB

# 12-0055 Repair and or Replacement of Skylight Wednesday, December 18, 2013 Room 340N Time: 10:30 a.m.

No Bids	



# BID Results IFB 13~0017 Vehicle Paint and Supplies Friday, December 27, 2013 Room 215S Time:10:30 a.m.

Vendor Name:	
	No Bids



## Bid Results IFB

13-0114 Elgin OEM Aftermarket Sweeper Parts Monday, December 30, 2013 Room 215 Time: 10:30 a.m.

Vendor Name: Standard Equipment Company				
Line	Description	Estimated Usage	Extension (Percent Discount Multiplied By Estimated Usage)	Total Bid (Estimated Usage Minus Extension)
1	Elgin OEM Street Sweeper Parts manufacturer's catalog/price list	\$48,000.00	\$ 4,800.00	\$43,200.00
2	Elgin Aftermarket Street Sweeper Parts manufacturer's catalog/price list	\$24,000.00	N/A	N/A
	Total Bid (Sum Of Lines 1 And 2 Above) \$ 43,200.00			